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1. [RFHEE (FiiR)
B AN FEERTS2018FE9AND2018E 11 AETHE SMEHBEICKYET,
@ LNGEHEE = 63,310/t
®@ LPGEH@E = 72,040 /t
2. [RFEFEEEE ()
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(1) FREHE (FiIR)
LNGEHHEE x 09576 + LPGEHIHEE x 00466
= 63,310 x 09576  + 72,040M X 0.0466
= 63982.720
- 63980 (10AKRFEDIHBEMEIEHA)
(2) RFMEE L ENEE (Fith)
FAEF R - 1 R
= 83,350 - 63,980
= 19,370M
- 19,300 (100AKFEDiREZETIYIET)
(3) [ 2 AR 22 Bl - — %0 R/NSEARAGHIFR (FRIA)

-0.081 x FEMERZESE - 100A  x  (1+HEBHER)
= -0.081 X 19,300M = 100 x (1+008)
= -16.88364M
- -16.89 (/MM E 2R KRFEDIHHMERD/NESNAIZHIYIET)

(4) RFERZLEME - SREBELRGHR D)

-0.081 x [RFMEWEEENZE - 100 x 1.2 x (I +EEHE)
= -0.081 X 19,300M = 100 x 1.2 x (1+008 )
= -20.260368MH
- -2027M (PERE2MRFBEDIHHERD/NESNAIZHIYIET)

3. AEMEEMBIVEHEAEIZONT
FILRER-/MABREBRAOEESERIT 2HBHME) D5E

(%i1k)

BEAX S FEEAHS(A/A)| KEHSEMEA/mM)
A [0MMS20MET 669.00 113.30
B [20m%#B%200mMET 1,647.00 64.40
C [200m%E#BZ 556 3,441.00 55.43

(FtEH) EAE29MDIGE
[FEREEAEE (1,647) + S5 £ (64.40M/m* X 29m*) } X 1.08=3,795[ (/M A LI T YR T)



